Oxidation-Reduction Balancing
Additional Practice Problems

Acidic Solution
1. Ag + NO; > Ag® + NO

2. Zn + NO;y > Zn*" + NH,"

3. Cr,0/% + C,H, O > C,H,0, + Cr**

4. HsPO, + Cr,0/7 > HsPO, + Cr**

Basic Solution
1. MnO, + C,0,> 2> MnO, + CO,

2. CIO + Fe(OH); > CI + FeO/*

3. HO, + Cr(OH);s > CrO4# + OH

4. NoH; + CU(OH)2 -> N, + Cu



Oxidation-Reduction Balancing
Additional Practice Problems

Acidic Solution
5. Ag + NOs > Ag" + NO

Answer:

4H* + 3Ag + NO; > 3Ag*' + NO + 2H,0
6. Zn + NOy > Zn®*" + NH,'

Answer:

10H* + 4Zn + NO; > 4Zn** + NH," + 3H,0
7. Cr,0,% + C,H,O > C,H,0, + Cr**

Answer:

8H* + Cr,0,% + 3C,H,0 > 3C,H,0, + 2Cr** + 4H,0
8. HsPO, + Cr,0/> > H;PO, + Cr*

Answer:

16H* + 3H;PO, + 2Cr,0,> > 3H,PO, + 4Cr** + 8H,0
Basic Solution
5. MnO, + C,0,% > MnO, + CO,

Answer:

4H,0 + 2MnO, + 3C,0,% > 2MnO, + 6CO, + 80OH"
6. CIO + Fe(OH); > CI + FeO,*

Answer:

40H  + 3CIO" + 2Fe(OH); > 3CI' + 2FeO,* + 5H,0
7. HO, + Cr(OH); > CrO4# + OH

Answer:
4HO,” + Cr(OH); > CrO,> + 7OH

8. NoH; + CU(OH)2 -> N, + Cu

Answer:
N.H; + 2Cu(OH),; > N, + 2Cu + 4H,0



